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1. An action of a qualitative nature that occurs internally
without the need for any training and experience

1. Growth

2. Development

3. Maturity

4. Behavioral Change

©:50%:50, BEE WSVE0 B0 ©oSLSom 2301 KoeTB)
éogamﬁo EOA/S 7:565

1. DEIOE
2. QS0
3. DBHES
4. (DSFI° 35°00)
2. One of the following statement is not true
1. Development is rapid in the first three years

of life in children
2. Growth stops at some point in individuals

Changes caused by development can be precisely
measurable

4. Growth is a part of development
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‘Innate ability of a person’ refers to
1. Heredity

2. Environment

3. Development

4. Attitude
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“Adolscere” means

1. To grow into maturity

2. To grow to development

3. To grow to Emotions

4. To grow to reproductive stage
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Child’s first ‘Social activity’ starts with their friends through
Parallel play

Associate play

Co-operative play

Ll

Isolate play
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According to piaget ‘A child who sees an aeroplane for the
first time, and thinks it is a white bird’ relates to

1. Assimilation
2. Accommodation
3. Organization

4. Constructive knowledge
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According to Gardner number of items in multiple
intelligence are
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The scientist not related to development of ‘Rating scale for
Attitudes’ is

1. Guttman
2. Likert

3. Thurstone
4. Binet
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10.

According to Wallas, “Yes I got it” stage in creative process is

1. Preparation
2. Incubation
3. [llumination
4. Verification
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The oldest psychological study method

1. Introspection method

2. Observation method

3. Experimental method

4. Case study method
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12.

“Learning 1is reinforced practice that brings relatively
permanent change in the behaviour” defined by

1.
2.
3.
4.

Hill Guard

Gates
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‘Engrams’ are not formed by this

1
2
3.
4

Aptitudes
Trainings
Experiences

Sleep
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13.

14.

A student read a book in 30 hours, Next time he completed the
same book in 15 hours. The saving score is
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Loss of memory due to interference effect is called

1.
2.
3.
4.

Retention
Learning
Inhibition

Motivation
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16.

Balu can sing well but cannot dance. This difference is
1. Inter individual difference

2. Intra individual difference

3. Neutral difference

4. Motivation difference
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A child is going to library on his own. This type of
motivation is

1. Extrinsic Motivation
2. Intrinsic Motivation
3. Achievement Motivation

4. Need based Motivation
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18.

Author of “Social Learning & Personality Development”

1. Bandura
2. Bruner
3. Binet

4. Skinner

“Social Learning & Personality Development” (K08 &Sox0es
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“Priority will be given to the method of teaching than the
content” stated by

1. Pavlov

2. Thorndike
3. Binet

4. Bruner
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19.

20.

“The relation between parts and whole can be transferred to
new situation” is stated by

1. Charless Judd

2. Kohler

3. Baghley

4. Thorndike
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“S” shaped curve is an example of
1. Positively accelerated curve
2. Negatively accelerated curve
3. Mixed curve

4. Typical curve
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22.

A computer used to make predictions about the weather

1.
2.
3.
4.

Micro computer
Mini computer
Large size computer

Super computer
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Trial and error theory proposed by

l.

2.
3.
4

Thorndike
Pavlov
Bruner

Skinner
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23.

24.

NEP — 2020 was approved by the union cabinet of India on

1.
2.
3.
4.

July 29" 2020

June 28", 2020
November 30", 2020
February 14", 2020
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29 23 2020

28 257 2020
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This item is not in JVK kit

1.
2.
3.

4

School Bag
School uniform
Geometrical Box
Belt
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26.

‘MOOC’ expanded form is

1
2.
3.
4

Most optional communication
Many organized offline course
Massive open online course

Massive open offline course

‘MOOC’ 80T
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Area of normal probability distribution curve is equal to
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27.

28.

IQ between 20 — 39 are

1.
2.
3.
4.

Profound Mental Retarded
Mild Mental Retarded
Severe Mental Retarded
Moderate Mental Retarded
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An example of Teacher Centered method

1
2.
3.
4

Lecture method
Project method
Problem solving method

Heuristic method
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29.

30.

Guidance is a process of

l.

2.
3.
4

Providing information to the child
Giving protection to the child

Teaching morals to the child

Assisting the child in making right choice
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This is not an image editing software

1.
2.
3.
4

38 3
1.
2.
3.

adobe illustrator
photoshop
coreldraw

audacity
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61.

62.

63.

64.

Our classroom is located on the first floor of our school
building. It is quite large and spacious. It has two doors and

English Paper — ITA

four big windows.

The above passage can be

l.

2
3.
4

A diary entry
A description of a classroom
A biography of a classroom

A poster on a classroom

Where did he find the pencil?

The passive voice of the sentence begins with

l.

2
3.
4

By whom
The pencil
Where was
He found

He was a skilled archer.

Choose the correct ‘yes/no’ question.

l.

2
3.
4

Is he a skilled archer.
Was he a skilled archer?
Wasn’t he a skilled archer?

Isn’t he a skilled archer?

Choose the expression that we use to express thanks.

l.

2.
3.
4

You are welcome.
It was a pleasure.
Don’t mention it.

I’m very grateful to you.



65.

66.

67.

68.

69.

I saw

v

dog.  dog was barking.
a, The
an, The
the, A
the, An

He could do nothing,

Choose the correct question tag.

l.

2.
3.
4

Choose the prefix in the word ‘unknowing”.

l.

2
3.
4

Choose the word you find between these guide words;

couldn’t he?
can he?
can’t he?
could he?

unknow
know
ing

un

foggy - fondle

1.

2.
3.
4

folio
flung
flow

focus

Choose the word with correct spelling.

l.

2.
3.
4

sanctuery
strugle
acceptance

recieve



70.

71.

72.

73.

Choose the correctly punctuated sentence.

l.

2
3.
4

“No,” the doctor said.
“No, the doctor said.”
No! the doctor said.

No, “the doctor said”

‘Fall of night” means

1
2
3.
4

early morning.
afternoon.
midnight.

late in the evening.

Our techniques give a unique and durable colour to the fabric.

Choose the antonym of the ‘durable.’

l.

2
3.
4

fragile
wrap
harsh

mounted

He said , ‘please come with me.’

Choose the indirect speech of the sentence.

l.

2
3.
4

He ordered me to go with him.
He requested me to go with him.
He suggested that I should go with him.

He promised me to come with me.



74.

75.

76.

77.

Keats died Romantics.

Choose the expression tocomplete the meaning of the sentence.

1. younger than that a fewer

2. as young as many other

3. so young as most other

4 younger than most other

Whatl  isthatyou well in your job. Really!
I youthe truth.

Choose the list of three verbs that fits the blanks respectively.

1. am saying ; are doing ; am telling

2 say ; told ; did

3. am doing ; are saying ; was telling

4 am telling ; are saying ; am doing

Maria hasn’t wanted to drive since she her car.

Choose the verb that fits the blank.

1.

2
3.
4

is crashing
will buy
crashed

would crashing

The disease eats away the liver.

Choose the meaning of the phrasal verb ‘eats away.’

l.

2
3.
4

recovers from
sleeps well
destroys slowly

comprehends the whole



78.

79.

80.

1.

She saw a rabbit that was wounded.

Choose the simple sentence of the above.

1.
2.
3.
4

The party went on

She was wounded by a rabbit.
She saw a wounded rabbit.

She has a rabbit that has wounds.
She wounded a rabbit.

after three o’ clock.

Choose the word that fits the blank.

l.

2.
3.
4

by
until
over

during

I visited most of the main museums and art galleries

my stay in Italy.

Choose the word that fits the blank.

1.
2.
3.
4
Choose the linker that shows contrast between two ideas.
1.

2
3.
4

over
for
during

about

SO
although
and

therefore



82.

83.

&4.

85.

Raju started shouting prove her wrong.
Choose the linker that fits the blank.

1.

2
3.
4

furthermore
moreover
in order to

although

How long are you waiting here?

Choose the part that can improve the underlined part
grammatically.

l.

2.
3.
4

you have been
you been
have you been

were you

I have met two women, whom [ believe, were hospital nurses.

Choose the correct option that can replace the underlined part.

l.

2
3.
4

who I believe
each I believe
who I am believe

whose I was believed

Choose the word that can express an abstract idea.

l.

2.
3.
4

pleasure
hen

herd

soap



86.

87.

88.

9.

Choose the uncountable noun from the following.

l.

2
3.
4

colony
patient
lioness

information

Could I use your textbook for a while, please?

This sentence indicates

1. ability

2 seeking permission

3. possibility

4 past ability

Nobody inthe class  the answer to this question.
Choose the word that fits the blank.

1. know

2. knowing

3. known

4 knows

Read the following passage.

My father and mother complemented each other. My mother
was fragile, my father robust. Her face was responsive, my
father’s impassive.

The author says that his mother was

l.

2
3.
4

just like his father.
opposed to his father.
indifferent to his father.
different from his father.



Read the following passage.

My father and mother complemented each other. My mother
was fragile, my father robust. Her face was responsive, my
father’s impassive.

Her face was responsive.

This sentence says that

1. her face was passive.

2 her face has no reaction.

3. her face showed her feelings clearly.
4

her face was always gloomy.



91.

APTET — Paper- 11 A — 2022
MATHEMATICS

If a train travels at the speed of 40 km/hr. it reaches the
destination 11 minutes late. If it travels at 50 km/hr. speed then
it reaches destination 5 minutes late. The distance it has to
travel is

1. 20 km.
2. 22 km.
3. 23 km.
4. 25 km.
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92.

93.

94.

A tree breaks due to storm and broken part touches the ground
by making 30° angle. The distance between the foot of the tree
and top of the tree on the ground is 6 m. then the height of the
tree before falling is (in meters)
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. 33

2. 63

3. 93

4. 1243

Solve H;ﬂ
Cot 0 -1
2

% QS

1. Sec’0

2 Cosec’0

3. Tan’6

4 Cot*0

If Sin A=Cos Band 0° <A, B<90°then A +B
Sin A = Cos BX08a50 0°< A, B<90°®ons A+B

l. 45°
2. 60°
3. 90°
4. 30°



Sin( A4 —B)=% and Cos (A + B)=% then A =

Sin(A—B)z% SO803 COS(A+B)=% 0N A =

l. 30°
2. 45°
3. 60°
4. 90°

The volume of a cylinder is 308 cm’, height is 8 cm. then the
lateral surface area is

1. 186 cm’
2. 176 cm?
3. 125 cm®
4 175 cm®
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1. 186 3. 20.9.
176 3. 20.20.
125 5. 20.%0.
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If the conical tent height is 3m., and base diameter is 8m., then
the curved surface area is

220
—m
7

2. @cmz

l.

440
—m
7

4, ﬂcm2
7

FopoY ©SE0E™ &S0 Iy 3 W, IGO0 8 L. WOKS
KGE00 SE80 JTeg0
220 4 2

.

2. @5.‘:’00.5;.

1.

40 ¢ 2
05,

4, @ 520.5.



98.

99.

A line drawn through the midpoint of one side of a triangle
parallel to second side will be

1.
2.
3.
4.

Parallel to third side
Perpendicular to third side
Equal to third side

Bisects to the third side
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If ABCD is cyclic quadrilateral and ZBAD = 75° then Z/BCD

value

ABCD 3\8a 558083)m08° ZBAD = 75° @003 ZBCD de03s

l.

Ll A

75°
85°
95°
105°



100. If a circle passes through all the vertices of the quadrilateral,
then the quadrilateral is called

1. Circle

2. Cyclic Quadrilateral

3. Square

4. Half circle
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1L NGO

2. 3daH sesyzo
3. S50

4. 08 HNFO

1
101. Rationalise the denominator of ————
3J2-23

1
S® BES05 eS55AaH0 S
302 =243
L 424243
' 5
, 4223
' 5
3 324243
' 6
. 3W2-283

6



102.

103.

104.

If we add the additive inverse of (_?4) to the product of

. -9 5
inverses of —and —, we get
2 18

_79 Nblolevol %o S QIRSLIRCIAENE (_?4) S0, VOEOS

ISP SrEm 535 HOS0
1 1
2. 2
3. 3
4 0

Malik has sold two tables Rs. 3000/- each. He got 20% profit
on one table and 20% loss on second one. Then the loss
percentage on whole is

S8 Both BenhS 2.8 5 & . 3000/-0% 04D, 2.8
BenSp 20% 7230, 58050 BoES Eendp 20% SPso SN
B0 WS SY)S S TS0,

1 2%

2. 3%

3. 4%

4 5%

IfA=1{1,2,3,4,5} ;B=1{a b, c} then AnB

A=1{1,2,3,4,5} ;B=1{a,b, c} ®0035 AnB
{1,2,3,4,5}
{a’ b’ C}

1
2.

3. {1,2,3,ab)
4 {



105.

106.

The areas of frequency polygons and histogram drawn for the
same data are

1.
2.
3.
4.

Equal
Not equal
Not equal all the time

Cannot say

28 STOTINIL OIS S TPeR(B0 $HBAN FSIYS§
2ITVERO ITOFI0V

1.

o wN

ISINSNTo)

VPS5

CH) boCSG:J@eS”S DITSO T
SRS

In AABC /B =90° and Tan A=+/3 then
Sin ACosC+CosASinC=
2,5 AABC &° /B =90° 558053 Tan A=+/3 0203

Sin A Cos C+Cos ASinC =
1. 0

2. |

3. B

4. 2



107. Number of multiples of 4 between 10 and 250
10 580350 250 & SoGgie 4 S8, Kedeseen

1 50
2. 60
3. 70
4 240

108. Iff(x) = aox" + a1\ X"+ a, X"+ ... + a,.; x + a, is polynomial

of degree ‘n’

1. ‘n’ 1s negative integer and ay# 0
2. ‘n’ 1s a positive integer and ay # 0
3. ‘n’ is any integer

4. ‘n’ is zero

) = apx" + a1 X"+ X"+ . ap xta, ‘n’S SEKSD

2DTVIE 900D

1. ‘n’ s 20008 Zgj"g 2602;)5 OB ag# 0
2 ‘n el 59 Zg)"’g 2603)5 DO ap#0
3.0 'm0 IBS &8 Yegdons
4

‘N’ eI R0)

109. I1f2°'+2"'=1280 then x =
2714 271 = 1280 e900B x =

B2OW N ==
AN N O o0



110.

111.

112.

The point satisfies the equation 2x — 5y = 10
2x — 5y = 10 0BT Sd0iH Do
1 0, 2)
2 (2,0)
3. (5, 0)
4

(243.-43)

The point which divides the line segment joining the points
(4, -3) and (8, 5) in the ratio of 3 : 1 internally

(4, —3) 558050 (8, 5) doeorrie Byrpomd wosson 3:1
DYBS’ IR0 DotHY.

1. (7.3)

2. 3.7

- ()
&

270 _ i can be expressed in terms of angle 6 then the
X=X
value of ‘m’

u=m D 350 0S° v m’ e

X, =X,
1. Sin6

2. Cos6
3. Tan 0
4. Sec 6



113.

114.

A person recorded 24000 tosses of a coin and he got 12012
heads, then the probability of getting head is

2% ;s§§ 24000 &y POV KSR DOGB0 SIS DA
12012 eS”;SJ&eD DT 900 2'5";53&;63 DoLrIge

| 24000
' 12012

5 12012
' 24000

12012
4. 24000

If the probability of E is P (E) then
E &%), 602;"5595 P (E) ®o0nsS

1.  0<P(E)<I
2. P(E)>l
3. P(E)<0
4. P(@E)=0



115.

116.

MATHS - METHODOLOGY

Which of the following does not describe nature of
Mathematics

1. Logicalism

2. Traditionalism
3. Tatva veda

4. Intuitionism

B3 (300 IS KBS Harar) ISHOS 50
1. Q) EJ°¢0

FPO|REPADI0

é%mdo

e N

eaoédggmcso

Recall is the specification of
Knowledge

Application

Analysis

Synthesis

28 BIETHe B V)HETEas

R A W D =

= 1

230055300
2
RISl lale}

RN
(qp]

= w N

DOBAE?
(qp]



117. Solving a problem by breaking into small parts is
1. Inductive Method
2. Deductive Method
3. Analytic Method
4. Synthetic Method
2.8 DI/E DY) DY) woTenm SO FHOT 9GS

1. RS ?.3%5@

A~ W N

29

3a4h

3 28
3

28

&

®

118. The last step in problem solving is
1 Verifying the solution
2 Planning
3. Execution
4. Identifying problem
BBy IS D56 FI S0
L 257208 D908 s
2 (DeTVE
3. X)Czsﬁr’sa
4 DaRdge Hogouseo



119. The following is more essential for the achievement of
Maths club programmes

1. Black board

2. Chalk

3. Chart

4. Bulletin board

808 T3S° Hedes D00 STYEITO FHOFBELH WSgITHTHI

1. PN IOPALS)
(ep I 0]
2. & gsﬁw§b
3. I ob)
[A]

4, 20BBS 25’5%

120. The evaluation takes place during teaching learning

process is

1. Formative Evaluation
2. Inclusive Evaluation
3. Descriptive Evaluation
4. Summative Evaluation

FET 0GOS (DIEH BHRHSHY)E Dok SorergosSo
1. [o>at>r ;535°e31§o§(6o

2 éc‘ib&@eﬁ ;Swew§o§éo

3. bééwég 35JJ°QJ'°?SO§?50
4

QOITeT B8 Sore§08S0



121.

122.

APTET - Paper- II A — 2022
Physics

Volume of solids is measured in
1. Metres

2. Square Metres
3. Cubic Metres
4. Centimetres

DTITTO WIDOITETRY) IS T

1. el

2. SEBY W
3. D08y ety
4, 'z’ooe%ibéoc;%

If the net force acting on a body is zero, then the state of
the body is

1. at rest

2. at uniform rotatory motion
3. at straight line motion

4. at vibratory motion

28 SR0IP SITD DOB00 P50 wond & SNY
By 8

1. DFHORS
[©)]
2. DB\PSoed SOSYS
3. B9 TOIHS
4, 0SSOSR



123.

124.

125.

The time taken by the body projected vertically up with a
speed of 10m/s to return back to the ground is (g = 10m/s”)

1. 20 m/s

2. 10 m/s
3. 2 m/s
4 5m/s

10 0./, 3E6° DQILDIT S &ddS0 $o0é DI

DB $29 AP BBA T°ITIS HE DHA0
(g o035 = 10m/s?)

L 20 /.
2. 10 ./,
3. 2/
4. 5./,

In the modern periodic table ‘Halogens’ are in this group
3OS 35S BPES° WS aS'eo s KD BodII.

1 IVA
2. VIA
3. VIIA
4 VIIB

If the temperature of an object is 300 K, then its
temperature in °C

2.8 5399 Boo8). &S 300 K, wond °C o8 od e

1. 25°C
2. 27°C
3. 29°C
4. 23°C



126. The light travels from rarer medium to denser medium. The
angle of incidence ‘i’ is equal to the angle of refraction ‘7 .
Then the angle i” =

2.5 520885830 IBYOITSEO 008 Jo|SSBE ASSEoS IS
(BASTe3NB. e 38550 i, IEFSS S0 P
BOEIRO VITHOM® GTN0N. VOIS DSESE'e0 47 =

127.

b=

0°
45°
90°
60°

The unit of magnetic field strength is

1.
2.
3.
4.

Oersted
Ampere
Coulomb

Faraday

AN O 3 28 [PIre0

1.

L

©oEE
3020505
Erenod
bloted



128.  One of the following is known as the morning or evening star

1. Venus

2. Mercury
3. Neptune
4. Earth

808 IE" BAD IKoi0E),, FALOSTEY HT), @ DT

L DS
2. 22063020
3. IS
4. o

129. Rusting of Iron is a
1. Physical change
2. Temporary change
3. Chemical change
4. Physical and Temporary change
I BoY) Depey B0

1. F°DE ;55°Ci>°)

2. &g O I8

3. SIS ;55°Ci>°)

4. T8, oo 85 %)



130. Sulphur dioxide is a
basic oxide
neutral oxide

amphoteric oxide

Ll

acidic oxide

éoq)gc:os:ogﬁ 28

1. Xl eﬁgjg

SOY €3§ch

E50e% 2 eﬂgjg

L

e Qﬁé}g

131. The gases which dissolve in water

1. 0, CO,
2. Hy,N,

3. SO, FeO,
4. 03 He

DBS® EBR TASwHen

1 0,, CO,
2. H,, N,
3. SO,, FeO,
4 O3, He



132. In the chemical equation ‘1’ represents
1. gas evolved
2. precipitate
3. acidic solution
4. basic solution

Br058 DES58308° 4’ 8rD0HSO
1. POV AEIK©
2 ea;ﬁZsiZ:o béo)céoea
3. €353 @"358’30
(qp]
4

g°6@°;5mo



Biology

133.  Ducklings can recognize their mother through this kind of
animal behaviour

1. Instinct

2. Imprinting

3. Conditioning

4. Imitation

2P YR B SO B8 TEIS 8O (DIYS 50"
(qp] (qp]

ﬁswgé’szﬁen?b@oao

1L QTS (DG,

£9:3008 €3

Q20ES

L

90888

134. Plasma membrane is made up of
1. Proteins
2 Lipids
3 Amino acids
4. Lipids and proteins
TP TS BAE® SArBBADESE

L @8y

2. 0%

3. opSessyen

4. O Do PP



135. The scientist who proved that oxygen is released from water
during photosynthesis

1. C. B. Van Niel
2. Robert Hill

3. Joseph Priestley
4. Jan Ingenhousz

$8emSFOOBTREAE” DotSodhs e IS $H06& SWod
@ AETDONS PV

1. 2.8, 78 RS
oo &S
[N]
LA §
EROR) @é@)

2R OB TTH

- W N

136. Cellular respiration in prokaryotic cells like bacteria occurs in
1. Mitochondria
2. Cytoplasm
3. Golgi Complex
4. Nucleus
SOl Yoy 29T ergOAred” SHafHEAD X, & BWIOD
1L D&SsroGosr
2 §s'a@5;5§o
3. 8 BSogRo
4

So|gsso



137. The lens present in our eyes

1. Biconcave
2. Biconvex
3. Concave
4, Convex

55 ge:@é* &0G Serseen
1. @5@65"5"5
®°S§>oa5°s°6

DETPTE

L

¥087°3°8

138. Deficiency of this hormone causes diabetes insipidus

l. Insulin

2. Oxytocin

3. Glucagon

4. Vasopressin

GOSrBET qARES Be 3867 §%0 $0F SeolrEos.

1. 392)0S

2. €3§(\)é5°§)5
3. K™
4. mﬁs@a?\bg



139. The liquid portion after formation of blood clot is

1. Lymph
2. Serum

3. Collagen
4. Plasma

550 KEEGS SO WADS (7)) JU° 08
L oo

B~ W N

iy 93
5
o

140. Among the following the natural habitat that does not allow
human activity and is strictly reserved for protection of wild
life

1. Sanctuary

2. National park
3. Sacred Grove
4. Zoological park

208 3JS° 575 SEGETTT O ©0HA0SY ;5:6§a§2,§)®
DHORED IBBoV2ES (SBgE &30 (Froo

1. @2;50‘5?68950
2. @A)

3. PSS 350

4 eSS >6)



141.

142.

The mammal that builds dams across water streams

1.
2.
3.
4.

Dolphin
Bear
Seal

Beaver

DS (B egor eSsy 8B 8o
Co [°S) (o8

1.

L

m@gg
QKO0
DS

B8

The wings of a bat and wings of a bird are examples for

1.
2.
3.
4.

Vestigial organs
Analogous organs
Homologous organs

Fossils

KE©O DY 0 $H8A5» DY DE o IS &rrirdes

1.

2
3.
4

93PS AT
SairdrSog esaharen
3@&8‘33"535 £955030T°e

Bereesee)



143.

144,

Adam’s apple is formed due to elongation of
1. Larynx muscle

2. Thyroid cartilage

3. Thyroid gland

4. Sebaceous gland

30 DEKEO IY ©EN) ATHS Y S08.

L EeE SoKso
2. Booné spBE
3. Borowé (Kod
4. oo

Particulate pollutant that pollutes air

1. CO,
2. Ash
3. SO,
4. CcO

O SenuBo T et STeoigsen
1 CO,
2 200°G (3
3. SO,
4 CO



BIO Methodology

145. The broad attempts for understanding the nature is called

1. Fact

2. Theory
3. Concepts
4. Laws

DIDHOT, &) TAE (FH050S” BHREY) SOOI
©%0 BRE'IER) qU° oL

1. [osbnilefo)
[©)]
2. D050
[ev)
3. FANINISY)
4. QA ST

146. “Micro teaching is a face to face teaching strategy with
reduced class size and time” stated by

1. L.C. Singh

2. R. N. Bush

3. G. B. Shah

4, D.W. Allen

“ngézfc% SEKA DOS705°%S5 P08 S HOOTDES
2.8 S0PPS0Y S Iog0” 0 BOBOB.

1. 6.2, Dok

e38. 5. 2:%

2.8,

&. &g A8

L



147. The number of steps in Herbart lesson plan
TG FEHEE0 8 Frore vops

E Y, e N

1
2.
3.
4

Physics Methodology

148. Affective domain was developed by

1. Benjamin Bloom
2. David Krathwohl
3. Simpson

4. Vygotsky

PaSY SOKIND WDIE DV
1. BoaS B0

2. A& (5SS

3. 209

4. gzvei%b



149. Find the correct sequence of concept formation in science

a) sensation
b) concepts
c) stimulus

d) percepts
ZSFKOS” a5 WHHRE’ HOGE> (K0

a) NORESS
b) ARNINIOY
c) &8I
d  dse»
| a,b,c,d
2. c,a, d, b
3. a,c,b,d
4 c,b,a,d

150. The process of evaluation is not related to

1. Student’s social status

2 Educational objectives

3. Examinations, observations

4 Teaching Learning experiences

SoregoST (HEHE H020ROHE ©oFo
1. 3)65"?38 PSS T

&} @
DITFOFE0

H8gen, H8Bosen

L

2356@2;556:6 €9:3085 0



TET-2022 - KEY

Session: 1

Subject: Maths_TELUGU

Date: 06.08.2022

(150 Questions Final KEY)
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